Final Exam Review #2 worksheet
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1. What is output by the following:

String a = "sticks";
System.out.println(a.indexOf ("h")) ;

==|

2. What is output by the following:

String a = "sticks";
System.out.println(a.substring(3));
cls

3. The Assignment class performs as indicated in the following table.

Command Ouput
Assignment a = new Assignment ("Math"); <no output>
System.out.println(a); 1. Math
Assignment b = new Assignment ("APCS"); <no output>
System.out.println (b) ; 2. APCS
b.done () ; <no output>
System.out.println (b) ; 2. APCS (completed)

Write the complete Assignment class here:
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4

\ . S
MVt € Vadlean (on

‘vavut. A wn

N AW\ = ,\QV+ b\JLL(/y«'J
rctN w44
2
/‘v("" JO;LK z{,{'\q(}

(¢
Cﬂ{k7q f\\JlL‘j4i - *'! £

9\/;?7'\7('( 6{"”1&3} Nnen-—e °

\,\\\\u i t +;,,£/ \/

)

\\3\ &!&‘-Q\aQ ‘\
\Q v*\\;\c\,f(--’ Q\-ﬂ‘(‘\‘ C . X L k-{ 1\Ju M = \ )’

/

P\\)\\ C Asan \V\/\J/vv{ CQ‘\‘ I b a\\
s nEN—e = N L/ﬂlvp‘,eLLoG o é.,(i,e

Wl

5’*”“& g =

((LN“@\J}{‘QB
/'7 W;@, CCM(J €(‘Q‘g)
v(hlv-\ o F ‘\--—“ +

wan—e + +enp,

;e

4. What it output when this code runs?

int h=10;
h==;
h/=3;

h+=h (0
System.out.println (h);

5. Write a line which prints num to the p power,
assuming both num and p are integers and are
properly initialized:
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6. Assume String array words is properly initialized with valid Strings. Write code to check the contents
of String array words and count and print the number of entries where the first letter is the same as the last

letter: e b= O

L ((;,\ A ,'\r& V5 ARV (.‘ﬂ';.x‘&\

‘ ‘ b, 2 P‘Lg‘! e (5};"‘4/,5776;;5?),\(‘
¢ (f [Wlé\\\:sj{u«.d(ﬂ‘\\).,QirxwdlS(g A S J

-1))

T
Sy Ztem , b &')v?‘r\\-»\ n(ed’
7. Referring as necessary to the Frog class to the class Frog

{
private int location;
public Frog /()
Create a 1000 element Frog array. {location=0; }
public void hop (int n)
{location+=n; }
Instantiate each Frog. public int getLocation ()
{return location;}
public String toString()

right, write code below that does the following:

Hop each Frog its index value. So the Frog at {

location 0 gets hopped zero (sadly, it does not really String temp = ""; e
get to hop) and the Frog at index 999 hops 999 f?ié;gfzﬁ f.?’ Lilaeabden i)
spaces) return temp;"@";

}
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8. Simplify this boolean expression: 9. Write code to declare a String array that contains
your first and last name as separate Strings using an
POy |l ( x<=7 && y!=6) ) array initializer.
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10. Problem 10 refers to the code to the right.

. i Frog mrHops = new Frog():;
mrHops is an instance of the class Frog.

circle o or False




